1~15: EE88(T5%) (3N - Lg%, FH-HEFI A, F4872 8, 2 ldor 2 %4)

What is the domain of f(x)= \/I ?
X

Select the correct answer.
(A) (—0,0) (B) (0, ©) (C) [0,0) (D) (-»,0) (E) (—,0].

2.

What is the range of f(x)= \/I ?

X

Select the correct answer.

(A) (=0,0) (B) (0, ) (C) [0,00) (D) (-,0) (E) (—0,0].
3.

0.5+ 2
lim X =9
-4 x+4
1 1 1 1 1

A) —— B) —— C) —— D) —— E) ——.

()2 ()4 ()6 ()8 ()16
4. lim xlet =2

(A) 0 B) 1 (C) x (D) —w (E) none of above.
5. 5

: : x , x<2 :
Consider the function f(x) = Find the value of C so that f(x) is
x+C , X>2

continuous on‘R .

(A) 0 B) 1 ) 2 (D) 3 (E) none of above.
6.

6j—xcos(xz):?
(A) 2sin(x’) (B) xsin(x’) (C) 2xsin(x’) (D) —2xsin(x*) (E)none of above.

7. Find ' if y=In(x’+y?)

-Xx —2x 2x X
A) ——— B ———— C) — D) ——
(A) x2+y2—2y ®) x2+y2—2y © x2+y2—2y @) x2+y2—2y

(E) none of above.

1
Find the absolute maximum value of the function f(X) = \/; - gx on 0<x<9.

(A 0 (B g ©) % (D) % (E) none of above



10.

11.

12.

13.

14.

15.

J~4x +6
(A) 244 (B) 37 (C) 74 (D) 492 (E) 21.4.

1
J.O 3x°cos( x*)dx =7

(A) sin(0.1)  (B) 3sin(0.1) (C) 3sinl (D) cosl (E) none of above.

J.lzx\/x—l dx =7

16 15 2 3
(A) 15 (B) 6 ©) 3 (D) 5 (E) none of above.

Find the area enclosed by the given curves ¥ = 5x — x” and y=x

(A) % (B) % (C) 32 (D) 64 (E)none of above.

(s wan =2,

(A) 2 f(x)joxf(t)dz (B) 2xj:f(t)dt (C) 2xf(x) (D) f2(x) (E)none of above.

Which of the following functions has the property I_a f(x)dx=0?

sin x

(A) f(x)=cosx (B) f(x)——+ (C) f(x)=x (D) f(x)=|x| (E)none of above.

Let f(x)and g(x) be two differentiable functions on‘R . Consider the following two
statements:

(HIf f(x)=g(x) onR,then f'(x)=g'(x) onR.

Q)If f'(x)=g'(x) onR,then f(x)=g(x) onR.

Select the correct answer.

(A) Both (1) and (2) are correct.

(B) (1) is correct, but (2) is incorrect.

(C) (2)is correct, but (1) is incorrect.

(D) Neither (1) nor (2) is correct.



16~20 : 4FiE8E(25%) (F 4IPS F - B AAER, A2 FHEFI A, EAFHE L)

16.
Let f(x)= 25x—+4 , which of the following statements are correct?
X +3x+2
(A) The domain of f(x)is (—,0).
B) f(0)=2.

(C) f(x)is continuous on ‘R.
(D) The range of f(x)is (—oc,0).

17.  Which of the following statements are correct?

(A) f(x)=x"+x isan odd function.

(B) f(x)=1-x* isan even function.

2

© f(x)= f is an even function.
X +

(D) f(x)= 4x+ is an odd function.
X

18. Consider the function f(x) = x> —12x + 1. Select the correct statements.
(A) f(x) isdecreasingon (-2, 2).
(B) f(x) isincreasingon (2, ©)..
(C) f(x) isdecreasingon (-, 2)..
(D) f(=2)=17 isalocal maximum.

19. 5x°+3x-2 A B
2

If ———= + , select the correct answers.

x*+2x7 x X x+2
(A) A=2.
(B) B=1.
(©) C=3.

(D) A+B+C=4.

20. Which of the following statements are correct?

(A) If a function f'(x) is continuous at x = a , then lim f(x) exists.

(B) If a function f(x) is differentiable at x = a , then f(x) is continuous at x = a .

b
(C) If a function f'(x) is continuous on [a, b], then L J(x) dx exists.

(D) If J_: S (x) dx exists, then JOO]O{(X) dx exists.



ANSWER

1 2 3 4 5 7 10
B B D A C C E
11 12 13 14 15
A A A B B

16 17 18 19 20
(B, D) (A,B,C,D) | (A,B,D) | (ACGD) | (AB,CD)




